F 5% 31 5 B (2019 4F)

TP F Sy T—KRe

EBRFTTEELES
EERFHIFHy7—2E



F4IE/PHIFEY Y H—K&

3 LD Y- %
5818H (1) R DYy H—1g 3B, 4A0—h
No. A70vY E—A F C&Tf5 YN BR | 88 | &K = JEf
1 E—R LA 7 - 0 1 - 1 4 8 1 7 1
2 F CATE 0 - 7 ok 1 - 4 0 1 1 -10 3
3 YN 1 - 1 4 - 1 *owow 4 5 2 3 2
No. B7O0Y% KH2FC 9FC WH3FC Bl | 81 | &% = JEfZ
1 HBH2FC *owon 0 - 8 0 - 11 0 0 19 -19 3
2 9FC 8 - 0 *owow 1 - 1 4 9 1 8 2
3 HBH3FC 1 - 1 - 1 *oxow 4 12 1 11 1
No. c/7avy AkOxY KiFS C GFSC Bl | 81 | &R = [-Livd
1 Adaxy e 5 - 0 2 - 1 6 7 1 6 1
2 RS C 0 - 5 *oxow 1 - 4 0 1 9 -8 3
3 GFSC 1 - 2 4 - 1 *oxow 3 5 3 2 2
No pD7Ov 4 ARTEB%& ILI—X $ETF C Bl | B8R | &R = JEfZ
1 ARTEHBXA e 2 - 0 0 - 6 3 2 6 -4 2
2 ILIY—X 0 - 2 *oxow 0 - 12 0 0 14 -14 3
3 $HFC 6 - 0 12 - 0 *oxow 6 18 0 18 1
No E7OY Y it MMM S C 4BK B | B8R | &R E3 JEfz
1 Kt *oxow 0 - 6 0 - 6 0 0 12 12 3
2 MIMMS C 6 - 0 *oxow 4 - 1 6 10 1 9 1
3 4BK 6 - 0 1 - 4 *oxow 3 7 4 3 2
No F70v % BFC EEFDSC massc BR | B8R | &R -3 JER,
1 BFC *oxow 4 - 0 0 - 2 3 4 2 2 2
2 =EXFbSC 0 - 4 ok 0 - 13 0 0 17 -17 3
3 massc 2 - 13 - 0 *oxow 6 15 0 15 1
PM TIL¥—X. 4BK. f[FO%. MFC. ARTE. /JMIED L. fzEkhD. FFEFC 8937 D~F




54 3MMERHIEYYHI—-KE 3 FOE
RN —F A B

14 ¥HETF C
2061 E-2R
3fif YN
® 441 4BK
0-5
|
©) @
___________ 6-1 _ ____d____ 0-2 . 30 ___)____B8R28(B)
4
® ® B Y @
6-0 3-1 K N 3-0 3-1
@® @ ©) @
3-1 1-2 0-8 1-4
i R 2 o R
el lw| [m| 7| |a] [* Alole| Mmoo (S| || |G
| 3 F E B n| F F M S N 9
A F C =] K > c C s c S
C * 9 c C
a
Al B1 F2 D2 E2 C1 D1 B2 E1 Cc2 A2 F1






